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Name

Chapter Review

1. Choose the numbers that make the sentence true,
Using compatible numbers, d'requm:lent of 2,150 + 43 ; ? \ a) (_{5

« For 2a=2d, select True or False to indicate whether
the product is correct.

2a, 2506%78=198588 O Tnie)
b, 154 X 289 = 44,506 (0 Tryd

2c, 9B X TH = 76,448 D True
kl-——}

2d. 6,439 x 821 = 528,649 O True

» Divide, Use partial quotients. Show your work,
41,158 + 24




4. Estimate the quotlent of 42,576 = 68,

425 T

4a, Show how you use compatible numbers to gal two estimates,

ab. Elllllllhuwrﬂuhimwlﬂ:hi:ﬂ;hu::ﬂu:- ,g le DDO -

5. Estimate. Then find the product.

6. Jeffery wants to save the same amount of money each week to buy a new

bike. He needs $252. If he wants the bike in 14 weeks, how, ney
should Jeffery save each week? — E
s

7. Sofia built a block tower that was 1,006 millimeters tall. The height of
each block was 22 I'.ll.i“llnﬂll'l- About how many hjocks did Sofia use?

ahwtg_D_ blocks
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B: Darnel divided 575 by 14 by using partial guotients. What is the
quotient? Explain your answer using numbers and words.

14)575 [
140 10x14 | 10
A%

St 2 owd { 20

= |
- '!?IU roX 14 llt’:
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9, h%:hme?&nr%l? [ L‘-";-i)
9a. 623 + 17is 361k ’ O No

b, 9457~ 6l)ks1 Tl ) No 11}1
A § Y ALY
Hﬁhi'hsc- } 1

10. Divide. Draw a quick picture.
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. There are 165 students at theater camp. There are 11 groups. If the same
number of students is in each group, how many students are in each group?
Draw a quic to so

' I F‘% students
« Choose the compatible numbers that will give the best estimate

for 429 + 36, L\ ;q_ ?DLO\

O 300 © 60 R
Hm O 50 LI'CI’D — LI-D

)
@ D e @D

. Raquelle or 13a-13d, select r each
statement

13b. ;”!! enguprfufmt.

13c.  After she has worked 168 hours, Raquelle will have earned $672,— \\"ﬁnfﬁ'i\sc
O True _—

13d. Ifghe works 1,397 hours this vear, she will make $22,352.
e




14. Lindsey earns $33 per day at her part-time job. Complete the table to show the

15, Write the letter for each quick picture under the division problem it +"3_‘3 OO

156 = 12=13 168 + 12 =14 144+ 12=12 .
—_ L] - 1_..-——-?-




16. Jean Claude’s factory produces 1,840 cases of pencils daily. How many

cases can the factory produce in 180 7
22) 20P..

. Rasheed needs to save $231. To earn money, he plans to wash cars and

charge $12 per car. Write two estimates Rasheed could use to determine
how many cars he needs to wash.

« Shiloh tracks her sleeping patterns and finds that she sleeps an average
of 479 minutes each night._ 5 U= 2%

18a. How many minutes of sleep does she get in 4 weeks?

| Sﬂ | Leminutes

18b, About how many hours is this? (Hint: There are 60 minutes in a

houry <
nhuﬁ 1 Il;‘; \ 3’_\\1 LOD
). mmmnymﬂ:mmnfﬂnmIMﬂng Du:knm@

into 16-ounce bottles. How many bottles of vinegar can they fill?

FSHG e







